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Abstract: In the paper, there is described using of the optimization models AGRO-3 SR for modeling food production
chains in the Slovak Republic (the modified version of the Czech model AGRO-3) and ALOKA for optimal allocation of
the domestic agricultural production computed by AGRO-3 SR into 4 different regions of the SR for simulation of conse-
quences of various types of agrarian policies on the effectiveness of the Slovak agriculture to the medium-term horizon
2005. There are formulated and evaluated 4 scenarios for the model AGRO-3 SR and two alternatives A and B for the
model ALOKA relating to all scenarios. Results of simulations have shown that the best result was reached in the scenar-
io 4 by the price liberalization in the whole food chains.

$�(�1��� I������
������
	�.�����
	�
���.���������
	���������.�����
�����������=�
�
��
��.����
�
/��
��.����
���������	��
��

�0 ���/�2�G3�J)��K���� L�� ���
���:��� ���(
�)���������0�1�23��� �����������:�)� ������
���7	�� J��K/	M� ��� ��������N
������
	��&���
�
�����:����/��9���N�����������0�1�2'�����������415���������
�:��)���/�)��K�)����:	)�/��K�K���N
������	������9���N����������0�1�23������6����
��M���������
����	
������M��M/�7	�����M����:��)����
�
�����������
��
����� ��������N��� /��K�K����)� ��� ��J���K���N�����
/����� ��� �����#$$%+� O���� ��������:��� �3�������	����6� �	N�:J�� ���
�������0�1�23�������K���������
��������������������415���/����L)	)��������P����	N�:JM�+�G7��������
����	)���:/��
��.�(����L���P)��7���������������(�������	N�:J
�6��J
��
�����
/�	
�	�����	��N��������
���N��J��K/	
+

$�34�.5� ��.�I����:��)����
�
��.�����
�	�.��������
	�N�������.��)�9)���(�)�������:��.����
���
/�	�.����
��:��)���/�)��K�)



AGRIC. ECON., 48, 2002 (1): 22–28 23

�
�����	���
���������������������������
	�&�����	�
��
=�����.����
������	+'+���������������
���������������	�
�
����������.�������
	���
	��.����	�����Q����������
���Q�
	����.�������������������������>����������
�������
�����
�������+������������0�1�23���
���������
��������
�
/��
�
��������� 
���������L�	�
������	�
���������
����������	�
���.����	���������������
����+
�����������415��
���
��������������
��������	��
��

��������������������������������
	������������ ���������
���
��������������0�1�23��� 
�����������	�� ������
����
����	��+� ���������� ����	����� ���� 	�������� ������
	
���
	�������������	�
���
����6����
��������������������
����������������
����>
�
/��
��������������
���+��������
�
�
�
���������
����
���������� �I������	�����
�
�����
�����
�
&�
���
	�'.� ������ 
�� ���
����� ���������������
�
�����
��
�������
	�*����������������������
������������	���
�����
�
���
	��
�����	�����������������6����
�������������		����

�������������������������
	���������&������������!"'I
– region 1: SCP 56–90 ths. SKK/ha of agricultural land, no

subsidies to LFA;
– region 2: SCP 39–48 ths. SKK/ha of agricultural land,

subsidies to LFA;
– region 3: SCP 23–35 ths. SKK/ha of agricultural land,

subsidies to LFA;
– region 4: SCP 8–21 ths. SKK/ha of agricultural land,

subsidies to LFA.
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1. Determining of the minimum and maximum range of prof-

itability (profit) of the agriculture, food industry and
retail in commodity structure.

2. Defining of the population demand determined by
– the maximum level of the food prices increase
– the minimum and maximum increase of the expendi-

tures on non-food products
– the minimal income index.
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1. No administrative determining of the basic raw material
prices.

2. No change in the effectiveness level of the food indus-
try determined by the technological investments and
the mass inflow of the foreign capital. (For this reason,
it is assumed that the profit creation in the food indus-
try at the expense of the agriculture will continue even
in the future.)

3. The import pressure will continue.
4. The intensity of agriculture will increase to the level

given by the Conception.
5. The macroeconomic assumptions used in the solution

were taken from the medium-term prediction of the In-
stitute for the Informatics of the Slovak Statistical Of-
fice (Infostat).
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1. Export prices either must not exceed the world prices
(in case of exports without subsidies), or exports do not
exceed the WTO commitments (in case of exports with
subsidies).

2. Import prices (including world prices and tariffs) do not
exceed domestic prices.

3. The 10% profitability can be reached by increasing sub-
sidies for production and Less Favorable Areas (LFA)
up to the 1.5 times higher level of the Conception
(3.2 bill. SKK for LFA, 3.8 bill. SKK for market regula-
tion and 0.8 bill. SKK for improving the agricultural trade
conditions).

4. Macroeconomic conditions are the same as in scenario 1.
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– in the alternative A: profit 5.2 bill. SKK (2 945 SKK/ha),

subsidies 3.6 bill. SKK (2.3 for production, 1.3 for LFA),
income with subsidies 8.8 bill. SKK, agricultural land use
1 758 ths. ha (decrease against the non-optimized land
use by 461 ths. ha);

– in the alternative B: profit 5.3 bill. SKK (2 732 SKK/ha),
subsidies 6.5 bill. SKK (4.8 for production, 1.7 for LFA),
income with subsidies 11.9 bill. SKK, agricultural land
use 1 943 ths. ha (decrease against the non-optimized
land use by 276 ths. ha).
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– cereals: in the alternative A,there would appear the de-

crease of land use for cereals in the regions 3 and 4 by
261 ths. ha and in the alternative B by 240 ths. ha, on
the other hand the increase of land use in the produc-
tive regions 1 and 2 by 97 ths. ha and by the 78 ths. ha
(against the base year 1999). In accordance with the
Conception, there would increase the average ha yield
by 11.5% to the level 5.7 t/ha;

– oil-seeds: with respect to the growing effectiveness even
in the LFA the transfers would not be too important;

– potatoes: the part of production would be transferred
to the regions without subsidies (region 1) or to the
regions with the low level of subsidies for land.
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– The relatively big increase of SC on the level 56 ths.

heads. This increase was allocated in the decisive mea-
sure into the region 3, whilst in the region 1 no SC were
allocated (the desired production was reached without
SC).

– The increase of SC in a region parallel caused the de-
crease of milk cows numbers in this region. In the least
favored region 4 for the alternative A, the milk cows
numbers decreased from the 101 ths. heads (in the year
1999) on 77 ths. heads (in the year 2005), while for the
alternative B on 90 ths. heads. In the region 1 (without
subsidies for LFA), the number of milk cows increased
on the 112.8 ths. heads and 106 ths. heads (from the
75 ths. heads in the year 1999) for the alternative A and
B, respectively.. The corresponding average milk yield
increased to 5 440 l/head, and 5 400 l/head, respective-
ly (against the projected milk yield 5 280 l/head by the
non-optimized allocation).
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– in the alternative A – profit 3.5 bill. SKK (2 009 SKK per
ha), subsidies 3.8 bill. SKK (2.6 for production, 1.2 for
LFA), income with subsidies 7.3 bill. SKK, using off ag-
ricultural land 1 720 ths. ha (the optimized land use is
by 500 ths. ha lower than the non-optimized one);

– in the alternative B – profit 3.6 bill. SKK (1 875 SKK/
ha), subsidies 6.5 bill. SKK (4.8 for production, 1.7 for
LFA), income with subsidies 10.2 bill. SKK, using off
agricultural land 1 944 ths. ha (the optimized land use is
by 276 ths. ha lower ).
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– in the alternative A – profit 3.8 bill. SKK (2 113 SKK per

ha), subsidies 5.1 bill. SKK (3.0 for production, 2.1 for
LFA), income with subsidies 8.9 bill. SKK, using off ag-
ricultural land 1 815 ths. ha (the optimization effect is
the decrease of land use by 404 ths. ha)

– in the alternative B – profit 2.5 bill. SKK (1 178 SKK/ha),
subsidies 8.7 bill. SKK (5.7 for production, 3.0 for LFA),
income with subsidies 11.1 bill. SKK, use of agricultur-
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al land 2 089 ths. ha (the optimization effect is the de-
crease of land use by 130 ths. ha).
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– in the alternative A: profit 25.2 bill. SKK (14 278 SKK per

ha), subsidies 1.9 bill. SKK (0.6 for production, 1.3 for
LFA, which means that the agricultural production filled
in agricultural areas mainly in regions with the low level
of LFA support), income with subsidies 27.1 bill. SKK,
use of agricultural land 1 766 ths. ha (difference from
the non-optimized allocation is 454 ths. ha)

– in the alternative B: profit 24.1 bill. SKK ( 12 383 SKK
per ha), subsidies 6.6 bill. SKK (4.9 for production, 1.7
for LFA), income with subsidies 30.7 bill. SKK, use of

agricultural land 1 948 ths. ha (difference from the non-
optimized allocation is 271 ths. ha)
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